stsgx AMATETE X

5H

[2E K]

EREENEE IR 1985000 FE T
19I5 ETIZIETRET

1 = SHR  8:35~ 8:45
R R AT S0 o
g;%, 2 4 25305 L «3ERAEL AL H=: :00~10:
H P E - B iR E BR A EEEER SHEES 10:50~11:40
2 | K IFt—LHR (AEfEfeBEE)  FEalai AR W5 11:45~11:55
AL 12:00~
3 | K|FEESR
4 | R|AEVDR
5 |&|zbnHE
6|+
7| H
s|na WAre FEEHET 7 —MI B AR BRENAR EERBERMES
AAREXR BB A MR (4R, TE)13:30
9 | KETHPTAR H S HEHXKE~10 SRFE SERk T8
10| K IBELEMAT BEZEE216:00 3REE ERGRTH
11| AR ik B £5716:00
12| & AFSIH BRERFLRVES~16 AEHEMEES
13+
14| H
15| A @EHEES SR EPERHIAS~17 HEMs BREYE~16
16| K EfEaEREE BEEHEZRS RIR K
17K |HHEBE~19 BESEHEERE~19 ERRRTH
18| A ik A = ~19
19| & |PTAKRE 3%4FEPTA HEEFSIHE 6 A1THMBRETIEM A
20| +
21 H
22 | A | B AR (4555 AR ) ~ 26
23| KL 28EE—LHR (¥ V7 7T =07 ) —F) 3EARLHR (HEF)
24| K REES AT ERETS ERRRTH
25| A&
26| 4 [PTARRES K EF S BED|IfE
27| L |3ELET AMERB~28
2| | 6 H 1T T EHE
IREN Yt 14] kB as wvrrn |27 k|#IRELE~30
C 2 | &l &5 15| A& 28| Ik | H R H
g pE A
29| A |FHZESE - BEASH A e ST EE
s y 4|8 17|+ 30| A EFESIME &7
) PN g = L AN
30 K| FMBEMRE - BHEREA PES AT T
e A s A EREEETE Ao TR s e |1TH 157F 0 LR DB
31 7k ﬂ%llﬁltplm@fgzz /J:Hjﬂ‘:ﬁﬁ:a 7 xlEmsersn 20| k|2 1 R A 19H ~23H *ﬁﬂi*ﬁ"‘éj
RESRE VEEREGE SCHRIR ME MR R 21| K[ =R B
9 | 4| 51k 20| A |gerrisrrsmomn~26
fifi 10]+ 23| 4|3 %5 7k
S 1|5 24|+
12| A [BEHiE~16 25| H |[&rEiE
13 k[emizE s 26| A




